HERIR - EEBTXILITHREEMRRR S
EERE

HE: §f12%1H15H8 (k) 13: 30~
BT XERIFEE I FEE
XAt T LRI A AT 3 F REE

1 BHASEE XiETRE SB = 13:30
2 & =
£ — 8 XEF. ERTBRBEEORHA 13:85
(1)
@ BERE
@ XILERERZ
@ XMLBtE—R
@ XMLBtE=R
(BERECE) 14:30
® ZFEE (ULAEEY) 14 :40
® TEFER
@ BHFE (EMixitiEy)
® XLRF - EFRF
(BESRILE) 15:30
(K E9) 15:40
OQfRS;IT
OABBFFZEAERAYVEYY - NS UE Y BEFASHEBEES
H o DEREA

O— R BF EiE A U BED > DEREA

£ Z B SEMGTRUYMEAZTSERELSDOXETRICH M HBHIEN

DOER#THH > DEFHIFEE 16:40
QML EHA 5 DEFFKEK

3 M= 17:20



